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I. ل وا������ا��رج� ا�و�� � �  :ا��#�د!ت م
  :أم�$�
1:2م��ل  22 0x − =  
):2م��ل  )3 2 5 6 8x x+ = −  

):3م��ل  ) ( )4 2 6 2 4x x x− = − +  

  :�� �� ا�
��د
ت ا������ :4م��ل 

( ) ( )
1

2 3 9 3 0
2

x x x
 

+ − − = 
 

  

  :�� �� ا�
��د
ت ا������ :5م��ل 
2 2 1 5 2 1

3 2 2 3

x x+ −
− = +  

3 :6م��ل 
7 0x x− =  

II. ل وا������� ��
  :ا��#�د!ت م� ا��رج� ا���
  :ت#0ی. و -�,�� .1
2 ا�
��د��:ت#0ی.

0ax bx c+ + =��� xل���
�اد ������    أc  و b و  a و  ه� ا��)م���م�  )0a  ت$
# م��د�� م" ا��رج� ≠

�  .ا�)�'�� &
���ل وا�
   :1م��ل 

��د��- 1ا���د �� �� 2

3 5 2 0x x+ + =  

):,ن ) ( )
2

3 1 5 1 2 0− + − + =  

   :2م��ل 


��د��3ا���د�� �� ( )2
1 3 3 0x x+ − − =  

):,ن ) ( )
2

3 1 3 3 3 3 3 3 3 0+ − − = + − − =  

    :م�2�3 
�د ������ آ� 

0
xوی��$�
2 ی�0/ ا�

0ax bx c+ + 2 ه� �� ��
��د��=
0ax bx c+ + 2 و ی$
# ج1ر ��0�ودی�=

ax bx c+ +.  

  :ت#0ی.
)��4" ث3ث�� ا�0�ود ) 2

P x ax bx c= + +.   

2ا���د ا�����0
4b ac− د����
2 ی$
# م
�5 ث3ث�� ا�0�ود أو م
�5 ا�

0ax bx c+ +   .∆و '6م5 �7 &��6م5=
  :م��ل

) '��68 ا�
��د�� ) 2
: 3 5 7 0E x x− + =  

)�:0$9 م
�5 ا�
��د�� )E  

3: ��ی:�a 5bو= = 7c و − 
� أن=&:2
4b ac∆ = −  

):��ن )
2

5 4 7 3 25 84 59∆ = − − × × = − = −  

  .deltaد��� :  ی�6أ∆     ا�6م5:م�2�3  
2. ��,�-:  

)'��68 ا�
��د��  ) 2
0 0a ax bx c≠ + +   . م
�5ه�∆و ��4"=

  


	���� ا�� 

ون ��
 ا���ه����

  د�	أم��8ى ا���ع م0�5ك 
  ا��#�د!ت ا���0اج>�ت و ا�;2��ت : ا����:ا��رس 
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∆0إذا آ�ن �   .� ��ن ا�
��د�� ��< ��� �� ��≻

∆0إذا آ�ن � :�� ت��8 �3 وج��ا ه� ��ن ا�
��د=
2

b

a
−  

∆0إذا آ�ن  � ��
 :��ن ا�
��د�� ت��8 ���" م@��?�" ه
2

b

a

− − ∆
 و 

2

b

a

− + ∆
  

�� ���ل ا�
��د�� &��6م5�
�
  .S'6م5 �
  :1م��ل

2ا�
��د��
3 2 0x x+ + ),ن .� ��< ��� �3 ��= )1 4 3 2 23 0∆ = − × × = − ∆ �� ������ ه�≻�
S و &������ م� φ=.  

  :2م��ل 

2ا�
��د��
10 25 0x x− + ) ��� �� و��� ,ن= )2

10 4 25 0 0∆ = − × = ∆ =.  

��
5:د�� ه��� هA1 ا�
2

b

a
− �� ������ ه�=�
} و &������ م� }5S =.  

  :3م��ل 
2'��68 ا�
��د��

3 2 0x x− + 9 ��ی:� = 4 2 1∆ = − × 
� أن=&0∆ ��
:  ��ن هA1 ا�
��د�� ت��8 ���" ه

1

3 1
1

2
x

−
= و=

2

3 1
2

2
x

+
= } و م:7= }1;2S =.  

2ت#��< ث3ث�� ا�>�ود .3
ax bx c+ +:  

��,�-:  
2'��68 ث3ث�� ا�0�ود

ax bx c+   . م
�5ه�∆ و ��4"+
∆0: إذا آ�ن .1 2 ا�
��د����ن�

0ax bx c+ +  ت��8 ���" م@��?�"=
1

xو 
2

x.  

) :و ��ی:� ) ( )2

1 2
ax bx c a x x x x+ + = − −  

∆0: إذا آ�ن .2  :��ن=
2

2

2

b
ax bx c a x

a

 
+ + = + 

 
  

∆0 :إذا آ�ن .3 2: �ن �≻
ax bx c+ 
 ی
4" ت�
���� إ�# ��ودی��" م" ا��رج� ا,و�#+.  

  :م��ل
)'��68 ا�0�ودی� ) 2

6 1R x x x= − ) م
�5 ا�0�ودی�− )R x1 ه� 24 25∆ = + =.  

)إذن �3 ا�
��د�� ) 0R x =�
 ه
1

1 5 1

12 2
x

+
=  و=

2

1 5 1

12 3
x

−
= = ) :و &������. − )

1 1
6

2 3
R x x x

  
= − +  

  
  

III. ل وا������ا��رج� ا�و�� � �  ا���0اج>�ت م
��
ax:إش�رة ا�>�ا b+       0a ≠  

BC$م:  
  
  
  

2إ�Dرة  �:0�د :1م��ل  1x +  

�2�ی:� 1 0x + =E��4ی 
1

2
x = −  

2aو &
� أن  0aو= 2 ج�ول إ�Dرة� 1x   :� ه� آ�����+
  
  
  
  
  
  

+∞         
b

a
−          −∞             

x  

�4< إ�Dرة a     0 إ�Dرة  a                                   ax b+  

+∞         
1

2
−          −∞             

x  

 +           0                −                                   2 1x +  




	: ا����ذ���
 ���
  3

2 �:0�د إ�Dرة :2م��ل   x− +  
�2�ی:� 0x− + =E��42 یx =  

1a:و &
� أن = 0a و− −2x ��ن ج�ول إ�Dرة≻   :� ه� آ�����+
  
  
  

2: ��د إ�Dرة:3م��ل  4x −  
2: ا�
�6اج����0 �� 4 0x − ≥  
3: ��د إ�Dرة:4م��ل  9x− +  
3 : ا�
�6اج����0 �� 9 0x− + ≺  

IV. ل وا��م�0ا����ا��رج� ا�و�� � �  :ج>�ت تEول D	 �$�� ا�� م�0اج>�ت م
  :ا�
�6اج�0ت ا������� �� �� :1م��ل 

( ) ( )5 20 3 7 0x x− + − ≥  

2: ا�
�6اج����0 ��:2م��ل 
9 25 0x − ≺  

  :3م��ل 
2: ا�
��د�� ��� �� .1

5 6 0x x− + =  
2 : ا�
�6اج����0 �� .2

5 6 0x x− + ≥  
V. ت��ا�;2:  
1. �  :م#�د!ت م� ا��رج� ا�و�� �������

�F5
  :م��ل و أ
�� ��2

5: ا�
��د��� 7 3 0x y+ + =  

2.  ��2
�  :م#�د���
Gا��#�ی �H0یI:  

2 �� ��:م��ل

� ا�������G:ا� :

4 10

5 2 19

x y

x y

+ =


+ = −
  

��FCا�   �H0یI:  

2 �� ��:م��ل

� ا�������G:ا� : 

4 3 1

9 5 3

x y

x y

− = −


− =
  

  :0Iی�H ا��>�دة
  : م��ل

�� ��2
��
G:ا� :( )

2 4
1

4 2

x y

x y

+ =


− + =
  

 �
G:دة ا��:ه�) 1(م0
1 2

6
1 4

D = =
−


� ت��8 �3 و���اG:و م:7 ا� :  

ه�

4 2

2 4 12
2

6 6
x = =  و=

1 4

1 2 6
1

6 6
y

−
= = 
� ه� ا�5وج=G:و م:7 �� ا� ( )2,1  

  

+∞         2          −∞             x  
 +           0                −                                   2x− +  


